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QUESTION 1

Which three types of jurisdictions should be considered while designing the Enterprise Structure? (Choose three.)
A. Transaction Tax Jurisdiction

B. Labor Jurisdiction

C. Local Jurisdiction

D. Obligatory Jurisdiction

E. Identifying Jurisdiction F. Income Tax Jurisdiction

Correct Answer: AEF

QUESTION 2

Which two statements are true in regard to using the Enterprise Structures Configurator?

A. The guided interview-based process helps you set up the enterprise with best practices.

B. It recommends job and position structures.

C. It creates the chart of accounts.

D. It allows you to create your Enterprise, Business Units, and Warehouses in a single step.

E. You cannot modify the recommendation from the tool. You must do it after you perform the initial configuration.

Correct Answer: AD

QUESTION 3

Your client wants the purchasers to be able to run the min-max plan for items under their control and then
manage the POs created out of these.

Which parameters can they use to be able to do this?

A. From Planner to Planner

B. From Buyer to Buyer

C. From Item to Item

D. Sort by

E. Planning Level
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Correct Answer: C

QUESTION 4
Which three statements are true regarding Managing Units of Measure? (Choose three.)
A. Conversions between classes are unigue for each item, the conversion rate varies for intraclass unit of measure.

B. A unit of measure standard conversion specifies the conversion factor by which the unit of measure is equivalent to
the unit of measure class.

C. A unit of measure conversion is a mathematical relationship between two different units of measure.

D. If you want to transact items in units of measure that belong to classes other than their primary UOM class, you must
define conversions between the base units of measure in different UOM classes.

E. You must define Unit of measure class with a base unit of measure.

Correct Answer: BCD

QUESTION 5

Your client has just set up their chart of accounts. They are now designing the organization hierarchy in
the system.

Which three structures should the customer use to do this?

A. Warehouse, Subinventory, and Locators

B. Divisions, Business Units, and Departments

C. Cost type, Default Cost Structure, and Item Organization

D. Cost Centers, Organizations, and Locations

Correct Answer: B
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